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Examining Graphs Name:
Deter mine which statements about the graph aretrue. Answers
10t . A.Thepoint (8, 4) shows that 8 batches of
cookies require 4 cups of flour.
8 8
§ il B. The point (3, 1.5) showsthat 1.5 cups of
O 6 1 flour will make 3 batches of cookies.
s} i
g 4 C. The point (1, 2) shows that 2 batches of
s > L’ cookies require 1 cups of flour.
d »  D.Thepoint (1, 0.5) shows that 0.5 cup of
12 3 4 5 flour will make 1 batch of cookies.
Cups of Flour
10T , A.Thepoint (2, 0.5) showsthat $2 will buy
you 0.5 pounds of meat.
8
B. The point (1.75, 7) shows that buying 1.75
g 6 1 pounds of meat will cost $7.
£,
C. The point (0.75, 3) shows that $3 will buy
2 4 you 0.75 pounds of meat.
g »  D.Thepoint (6, 1.5) shows that $6 will buy
05 1 15 2 25 you 1.5 pounds of meat.
Pounds of Meat
250t , A. The point (200, 8) shows that you get 200
pieces of candy in 8 boxes.
-, 200
= il B. The point (50, 2) shows that 2 boxes of
O 150 1 candy contain 50 pieces of candy.
o 7
g 100 [ C. The point (1, 25) shows that you get 25
a 50 L’ pieces of candy in 1 box.
d »  D.Thepoint (7, 175) shows that you get 175
2 4 6 8 10 pieces of candy in 7 boxes.
Boxes of Candy
1-3 [67]33] 0
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Examining Graphs Name. Answer Key
Deter mine which statements about the graph aretrue. Answers
10t . A.Thepoint (8, 4) shows that 8 batches of
cookies require 4 cups of flour. 1 C
8 8 T
S ) B. The point (3, 1.5) shows that 1.5 cups of 2 B,C
o 6 T flour will make 3 batches of cookies.
o
8 4 ’ . 3. C y D
S C. The point (1, 2) shows that 2 batches of
s > 4 cookies require 1 cups of flour.
g »  D.Thepoint (1, 0.5) shows that 0.5 cup of
1 2 3 4 5 flour will make 1 batch of cookies.
Cups of Flour
10t , A.Thepoint (2, 0.5) showsthat $2 will buy
you 0.5 pounds of meat.
8 +
h B. The point (1.75, 7) shows that buying 1.75
g 6 1 pounds of meat will cost $7.
£, ,
C. The point (0.75, 3) shows that $3 will buy
2 4 you 0.75 pounds of meat.
g »  D.Thepoint (6, 1.5) shows that $6 will buy
05 1 15 2 25 you 1.5 pounds of meat.
Pounds of Meat
250t , A. The point (200, 8) shows that you get 200
pieces of candy in 8 boxes.
-, 200 -
% h B. The point (50, 2) shows that 2 boxes of
O 150 T candy contain 50 pieces of candy.
o
g 100 [ C. The point (1, 25) shows that you get 25
) 4 pieces of candy in 1 box.
g »  D.Thepoint (7, 175) shows that you get 175
2 4 6 8 10 pieces of candy in 7 boxes.
Boxes of Candy
1-3 [67]33] 0
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